10000000 10000000 1

1000000

gooodoodon

gobbooogd

ou 82(]

ot 03:2 M

gobobogag.

ou
(Hhoooboooooo UDDDDDDDDDDDDDDDD,a—DDDDDD

x
goboooggbood.

0000000000000, 2,=nA200000<z<LO000NDOOO
0000 @ 100).

0 21 T2 23 Tn TN

OLo<zx<L0O000NOODOOOODO.z,=nAz000.

L
DDD,Ax:NDDD.(l)DD voooooooooooboobobobon
gobooboooo,

xm Z e~ tki(zn)
Z fzkn (nAz) )

!
gbobod.@uo@omuboobon

dUl 7’Lk (nAz) 7zk (nAz)
dt l - K/Zkl ! .

2012_0202-ogihara.tex 2013/06/05(0 0 O 0O)



10000000 10000000 2

000 e %A OOQOQg o000 2r 00000000,

/ Z dUl 72kl (nAz) 7119” nA:p _ —K,/ Z kl 71kl (nAz) 72kn(nAx)d:L,'

gogbbbugdbbrnbbooooobbbg,

dU,(t)
dt

oo0.000o0oooboobobooon kO

= —kk2U,(t) 3)

2mn 2mn

Now T L @)

ooo0.0o0oo0oobooboboo00 kR, O0n=NOOOODOO,

Ky =

2T

kma:r - E (5)

000.(3)00kxk2=KOO0OO,00000 KOODODODODOODOOOoOOO.
goo,0bbogoboogbboobboobbooobbooboooboboo
gogbobobuoodgbboboooobobooobn.

goooobogodd

gobbbiliobuoooobbbooodb,20ggbboboooobobbodad
ggooboogoooobod.

300 k, =kne 000000.000000000 100000000000
noooao,

om\* ., - -
Un-‘rl Un - (A_Z) At((){Un+1 +BUn)a

(6)
a+pf=1

000.00000000000@U(1HO0000.000000000000
0000 K=+ (&)’At000000000000.

l.a=1pg=000000000)0O0OO

2012_0202-ogihara.tex 2013/06/05(0 0 O 0O)



10000000 10000000 3

ggbbobugoobbouooobobbod
0<K<I1

goo.ooo,

27 2
— ] At<1
0<H(M> t < %

2. a=0,=1(000000)000

goboodad,
1
— <1 8
1+ K — ©)

O00,000 KOOODOOO.0O0O0,At,Az0000DO0ODOO.DOO
goo,0gbgboobgoobobo Ko1ogoobobooobooboo
gogoooo.

.a=pf=40O00000)000

)

goooooao,
O< K <2
goo.ogg,
2 2
o<ﬁ(_ﬂ) At <2 ©)
Az

4. 00000000O0DO0ODOO

GO0k, =k J00000.0000000O000ODO0ODOODOODOO
gooogog,

T

2
Ugrtl = gt — 9k (i-”) AtU™ (10)

000.10000000000 K=x(2&)’At000000,00000
D00D00000000000000000000000.

gogbbobboogoobobooooobobobuoooooobb.ooboon
ggbbobuoooobbobuoooobo

M=—-K+VK?2+1
A =—-K—-VEK2+1

2012_0202-ogihara.tex 2013/06/05(0 0 O 0O)



10000000 10000000 4

ggd.tobudgooooooobbbbobooo.obbbbbob
gbboggbuogboboo.gbo,bbodbogobooboobban
gogboooagd.

gboboobbuoobboobboobbuogbbooboboobboagn
gboobgboboobooboo.

go0ooOo0o0ooOoO0oo00DbbD AzO00ODOOOOOODOOODDOOOO.

oo

gbbodbbodgboooboobbuoobbooboboobo.boobobo
goobooogd.

ou_ o
ot~ "ox?

0000 :U(x,0) =sin (mx),
0000 :U(0,t) =U(1,t) = 0.

gon

(IHhODO0O000o00oooO0O0ooooo0o0o0o. Ux,t)O

Uz, t) = X (2)T(t) (12)

gog.da2oo dapoooboob,

dT X
X)) = k()22
@) =+ T

000 X(z)T(t)0000,

1 dT 1 d°X

RT(t) dt — X(x) da®

2012_0202-ogihara.tex 2013/06/05(0 0 O 0O)



10000000

10000000 5

gbob:0bougd,ugd«000bbuoobobug..0¢:t0bbooaobbod
gbbodbbodgbogobuoobobuoobboobbooboobooog.od

ugdbetnbbo,

1 dT
m%:ma
12X

X(z) da?

000.(14)000

god.d
X(x) = A, cos(kyx) + By, sin(k,z)
gooo,0o0ooon

X(0)=A4,=0,

X(1) = By sin(k,) = 0.

goo,
ky=nm (n=0,1,2,---).
000,16 00
X(z) = B, sin(nm)

000.(15000000000
2

a= —(nn)

000.(18)00(13) 0000000,
ar

dt
oooooo,

(19900 (17) 0000000

U($, t) — Z Cn Sin(nﬂ.x>€—n(n7r)2t
n=0

(13)

(14)

(15)

(16)

(7)

(18)

(19)

(20)

2012_0202-ogihara.tex

2013/06/05(0 0 O 0O)



10000000 10000000 6

goo.0oo 7700 B, 0000D0OCOO0U00O0ODODOOO C,0O00.000O
0 U(x,0) =sin(rz) 00O,

U(z,0) = Z C,, sin(nmx)
n=0
=sin7wx.

gogoobobooodon

Cy =1,
Cy =0,
C’n>1 = 0.
god,ggdd
U(x,t) = sin(rz)e "0 (21)
goad.
googn

anhobobooooob.oogoobbobooo,obbobbooooooboon
gogoooo.

gud
U(iAz,nAt) = U]

goo.gboooanpobobooobgoobobbo,goboobboboobon
ggboobo.20gdobobooggoobodg2000b0obooon.

U20< <0000 NDDOODOO.:0DbO0ODODOOODOODDOO
gboobogoobgn.

2012_0202-ogihara.tex 2013/06/05(0 0 O 0O)



10000000 10000000 7
oooo,
urtt —un 1 (oUn oun
_— — K/ —_
At Az \ Oz il 0r |, 1
_ (U U U U,
Ax Ax Ax
Ui, =207 + U2,
B (Az)?
Doo,urM'ooooooo,
urtt =uy A gn . _oun 4 un 22
i= ”LKW( i =207+ UL) (22)
O00.000,000000
Up =Up = 0. (23)

goooobogodad

yubooboobooboob.o3gbooooooboooDoo.

1.0 — T T T T

0.8 |- -
0.6 |- -
0.4 - -

.
. ~
. ~
. ~
. N
— , N —
. . N
. N
. N

0.0///\ TR TR I TR \\\
0.0 0.2 0.4 0.6 0.8 1.0

03:¢=00000U(z,0)000.000 U(z,0e'000000.

2012_0202-ogihara.tex 2013/06/05(0 0 O 0O)



10000000 10000000 8

0.8 |- -
0.6 |- -
0.4 - -

0.2 | 4 AN i

OO I I | I I | L I I | I I
0.0 0.2 0.4 0.6 0.8 1.0

04 Az=01,At=1,¢t=10000. 000000, 000000,000
U(x,0)e '000000.

gooooo,bbbogd,bidde-foldingtime DOO0O0O0O0OOO. O40
Ar=01,At=10000000¢t=100000000000O.

gboobgoobobbo.dbd e-folding time
1

K2

~ 10

T =

gbod.0o4000000000000D0ODODOODDOOD.

gogbobobogoobboboooo.goobbbooo.ooooobobooo
gboogod

T 2
A(— <1
0 < kAL Am)

gobo.gobo,odd

2
kAL (l) — 0.0l x 1 x 72 x 102
Ax

~ 0.99

gogbobuogoobbooodgn.

2012_0202-ogihara.tex 2013/06/05(0 0 O 0O)



10000000 10000000 9

KO (Az))00000000000000000 Az0000000 AtO0O00O0O
OO000O000O00DOO00DOOo0.0oo0,000D0U0DoOU0Db0OO Ax00O0O
gbooobgoobogbobogob.

2012_0202-ogihara.tex 2013/06/05(0 0 O 0O)



10000000 10000000 10

ooon

Odog,2o040oboboooobbooooobboo,oobbood,ISBN:4130613057

OO0 0O0,2010000000000000000~-00DODO0ODO00O0OODDO-O
URL:http://www.ep.sci.hokudai.ac.jp/~psg/doc2011/ogihara_B/ogihara B.pdf

OO0 og,201, 000000000 0
URL:http://www.ep.sci.hokudai.ac.jp/gfdlab/comptech/resume/0804/2011_0803-ogihara.pdf

00 00,2012, 0000000
URL:http://www.ep.sci.hokudai.ac.jp/gfdlab/comptech/resume/0112/2012_0112-ogihara.pdf

2012_0202-ogihara.tex 2013/06/05(0 0 O 0O)



